
Elementary level example 1
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1 1 r r r r n r 1

Solution I fill in the highlighted area

4 2 2 1 5 2 4 2 2 1 5 2 4 2 2 1 5 2

2 r 2 r 2 n r

1 n 1 r r r r r n 1 r r r r r n

5 n 5 n 5 n n

2 r 2 r 2 n r

5 r 5 r 5 n r

1 r 1 r 1 n r

I fill column 6 I fill row 2 I fill column 5

4 2 2 1 5 2 4 2 2 1 5 2 4 2 2 1 5 2

2 n r 2 n r 2 r n r

1 r r r r r n 1 r r r r r n 1 r r r r r n

5 n n 5 n n 5 r n n

2 n r 2 n r 2 r n r

5 n r 5 n n n r 5 n n n r

1 r r r r n r 1 r r r r n r 1 r r r r n r

I fill row 6 I fill in the highlighted area I fill column 4

4 2 2 1 5 2 4 2 2 1 5 2 4 2 2 1 5 2

2 r n r 2 r r n r 2 r r n r

1 r r r r r n 1 r r r r r n 1 r r r r r n

5 n n n r n n 5 n n n r n n 5 n n n r n n

2 r n r 2 r r n r 2 r r n r

5 n n n r 5 n n n r 5 n n n n n r

1 r r r r n r 1 r r r r n r 1 r r r r n r

I fill row 3 I fill column 2 I fill row 5

4 2 2 1 5 2 4 2 2 1 5 2 4 2 2 1 5 2

2 r r n r 2 n r r n r 2 n r r r n r

1 r r r r r n 1 r r r r r n 1 r r r r r n

5 n n n r n n 5 n n n r n n 5 n n n r n n

2 n r r n r 2 n r r n r 2 n r r r n r

5 n n n n n r 5 n n n n n r 5 n n n n n r

1 r r r r n r 1 r r r r n r 1 r r r r n r

I fill in the highlighted area I fill column 1 I fill column 3

Very elementary example to familiarize yourself with the solution path. In the following solution no 
logical reasoning is required but simply one must know how to count and be able to identify with a 
good eye the areas or rows or columns to be completed.



Elementary level example 2

2 3 5 2 4 2 2 3 5 2 4 2 2 3 5 2 4 2

2 2 r n n r r r 2

2 2 r r r r n n 2

4 r  4 r r n n n n 4 r

5 r 5 n n n n n r 5 n n n n n r

2 2 n r n r r r 2

3 3 r n n r n r 3

Solution I fill row 4

2 3 5 2 4 2 2 3 5 2 4 2 2 3 5 2 4 2

2 2 r 2 r

2 2 r 2 r r

4 r 4 r r n n n n 4 r r n n n n

5 n n n n n r 5 n n n n n r 5 n n n n n r

2 n 2 n 2 n

3 3 r 3 r

I fill in the highlighted area I fill column 1 I fill in the highlighted area

2 3 5 2 4 2 2 3 5 2 4 2 2 3 5 2 4 2

2 r r 2 r r 2 r r

2 r r r 2 r r r r 2 r r r r

4 r r n n n n 4 r r n n n n 4 r r n n n n

5 n n n n n r 5 n n n n n r 5 n n n n n r

2 n r 2 n r 2 n n r

3 r r 3 r r 3 r r

I fill column 4 I fill in the highlighted area I fill in the highlighted area

2 3 5 2 4 2 2 3 5 2 4 2 2 3 5 2 4 2

2 r n r 2 r n n r 2 r n n r r r

2 r r r r 2 r r r r 2 r r r r

4 r r n n n n 4 r r n n n n 4 r r n n n n

5 n n n n n r 5 n n n n n r 5 n n n n n r

2 n n r 2 n n r 2 n n r

3 r n r 3 r n r 3 r n r

I fill column 3 I fill in the highlighted area I fill row 1

2 3 5 2 4 2 2 3 5 2 4 2 2 3 5 2 4 2

2 r n n r r r 2 r n n r r r 2 r n n r r r

2 r r r r n n 2 r r r r n n 2 r r r r n n

4 r r n n n n 4 r r n n n n 4 r r n n n n

5 n n n n n r 5 n n n n n r 5 n n n n n r

2 n n r 2 n n r r 2 n r n r r r

3 r n r 3 r n r r 3 r n n r n r

I fill in the highlighted area I fill column 6 I fill rows 5 and 6


